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JE—J—R Race Chip (H)1—AYH—F M-—XLZHE NITAUTHUAY—ER BERIZ/NIMR

LOTUS Challenge (OP=Open, R=Racing, N=Normal) RE$ZE 1/5—MER

2014/10/5

R/FEHE—E—/ S—4(1561m)

KiE:H OI—R:9xvk

Pos.| PIC [No. Driver Type |Laps|Total Time] DELAY [ GAP [Best Tm CAR Shop/Team
1 _|OP-1 12[fEH RE GH1117 | 3 | 03:23.915 - - 1:06.948[WTRY AL T — T o—S [ A5 A —k
2 [oP-2 10[(REH BEE ABA1117] 3 | 03:31.191] 7.276 | 7.276 | 1:09.226|WTR IDCTFHI— Y1 54—k
3 |oP-3 11|HFTFT @8 111 3 | 03:32.134] 8219 | 0.943 | 1:09.077{wrrysosa—rEys—|91 54—k
4 [N-1 16[KAK HE GH1117 | 3 | 03:35.235] 11.320 | 3.101 | 1:09.856| T/ T —2+1 |K—one
5 [N-2 19(5@ £ GH1117 | 3 | 03:37.077] 13.162 | 1.842 [ 1:10512]vsost—t-o—<ozy—t 945 A —F
6 |N-3 185y &% 111 3 | 03:49.640| 25725 | 12.563 | 1:15.578|WTRT!)—+ DA A=k
7 |R-1 2|70 —% 111 3 | 03:50.312] 26.397 | 0.672 | 1:13.425|WTR EXIGE NIWA AT A —k
8 |R-2 14|lUA FIi GH1117 | 3 [ 03:56.980| 33.065 [ 6.668 | 1:16.428|WTR¥ <5 ®AEXIGE ! [Y14 5 F—k
9 [N-4 17| K& IEE GH1117 | 3 | 04:00.273] 36.358 | 3.293 [ 1:17.171]KEN2T L — K-one

LE.xE

LOTUS Challenge (OP=Open, R=Racing, N=Normal) jRE$ZE2/5—MER

KIE: W 2—X:Jzyk

Pos.| PIC [No. Driver Type |Laps|Total Time| DELAY [ GAP [Best Tm CAR Shop/Team
1 JoP-1 12[fEH RE GH1117 | 3 | 03:10.756] - = 1:02.496 TR A~ 54— o —S 9L F A —k
2 [oP-2 10|k EE ABA1117] 3 | 03:26.820] 16.064] 16.064] 1:08.212|WTR IDCT XL — |94 54—+
3 [N-1 19(%H E£ GH1117 | 3 | 03:30.428] 19.672] 3.608| 1:09.062|~>s4—r-v—=zy—8 |94 5 F—F
4 [N-2 16[KA K= GH1117 | 3 [ 03:33.619] 22.863] 3.191] 1:.09.872]Tax T —241  [K-one
5 [R-1 2|70 —% 111 3 | 03:34.489] 23.733 0.87] 1:09.643|WTR EXIGE NIWA  [94> 454 —F
6 [R-2 14(IUA FI& GH1117 | 3 | 03:50.635] 39.879] 16.146] 1:14.346|wTRY <50 AEXIGE ! ! [9A42 5 A+ —k
7 [N-2 17| K& IEE GH1117 | 3 | 04:04.037] 53.281] 13.402] 1:19.562]KEN2T > —> K-one
8 [N-3 1828 EEHE 111 2 [ 02:27506| 1 FEE [ 1 BE | 1:11.792[WTRT—E AT A=k

LUE.EE

DNS [OP [ 11[&T & [111 [0 ] -—— T - 1T = T -—— Twmryrvsr—trere—]v1o54—F |

LOTUS Challenge (OP=Open, R=Racing, N=Normal) 8 ExXRRER

Pos.| PIC |No. Driver Type [Laps|Total Time| DELAY | GAP [Best Tm CAR Shop/Team
1 _JOoP-1 12[EH BB GH1117 | 6 | 06:34.671 - - 1:02.496 TRy 1o 5t —rxxs—S [9A U FF—F
2 |oP-2 10|8kEH EE ABA1117| 6 | 06:58.011] 23.340| 23.340| 1:08.212[WwTR IDCTHL—> |Ha25A—F
3 IN-1 19(%H ££ GH1117 | 6 | 07:07.505] 32.834] 09.494] 1:09.062|>s> 54—t -2—<vzy—t 915 A—F
4 [N-2 16[KAK HE GH1117 | 6 | 07:08.854] 34.183] 01.349] 1:09.856| Ta%TFL —2+41  |K—one
5 |R-1 2|78 =& 111 6 | 07:24.801] 50.130] 15.947] 1:09.643|WTR EXIGE NIWA |94 54—k
6 |[R-2 14[ILA Fi: GH1117 | 6 | 07:47.615] 12.944] 22.814| 1:14.346|WwTRY<HwAEXIGE ! ! [YA2 54—k
7 IN-2 17[XfA EE GH1117 | 6 | 08:04.310] 29.639] 16.695] 1:17.171]KEN2=H>—> K-one
8 [N-3 18[2% HE 111 5 | 06:17.146] 1 &R | 1 BBl | 1:11.792[WTRT—+ AU F—k

UL SEERN

[oP [ 11[H&T &= [111 [ 3 J0332134] - [ - T 1:00.077[wtrorost—teue—s[o1o54—F |

DAl LR EFED L. TN LURTEZEL/N—F LIREE 2\ —FLTEEL. IBZRELT=.
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BMW Challenge (B/0OP=0pen, B/R=Racing, B/N=Normal)

EURO-OPEN (E-OP)

(FBEHER)

/ E2000 Challenge (E/T=Turbo, E/R=Racing, E/N=Normal)

KiE: A 3—X:zvk

Pos.| PIC |No. Driver Type |Laps|Total Time| DELAY [ GAP |Best Tm CAR Shop/Team
1[E/OP-1] 1 [iE = E92M3 9 | 10:09.850] - - 1:06.126| TKRacing M3R TKRILF
2[B/R-1 | 2 [#3L R5h BE19 9 | 10:16.446] 6596 | 6.596 [ 1:07.302|GARAGE#:IL GARAGE#A LI
3|E2/R-1| 8 |EE B S8NFS 9 | 10:48.677] 38.827 | 32.231 | 1:09.588[/\#iou=wis o4 AL—20 00
4B/R-2 | 3 |%H Hf4t  |BE18 9 | 10:49.675] 39.825 | 0.998 [ 1:09.459|GARAGE#: L3222 [GARAGE#: L
5|E2/R-2[ 9 [#iK BUE 528 9 | 11:13.617[+1:03.767 23.942 | 1:10.357|Car Dock106 H—KyHRXE
6[B/R-3 [ 4 |EfH ZEth BE19 8 | 10:57.778] 1 &l | 1 Al | 1:18.994|GARAGE#ALL GARAGE#3 (LI

LIk EE

DNF [B/R | 5 |®&iFE &= [BE19 | 4 | 0449924 - | - | 1:10.969|GARAGE102 #5j#& [GARAGE#L |




